Kindergarten Models for Counting and Cardinality progresses to Number and Operations in Base Ten (from ORIGO Stepping Stones)

- Write the numeral to motch each group of dats. Then(loepithe group
that is greater.

a.

b.

Subitizing Five Frame

Wite the numeral to match each group of dots. Then@the graup
thot is less.

a. b.

Comparing Quantities using Number Mats

Comparing Quantities Using Dominoes Ten Frame

Write the numbers thot are one less and one more.
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a b.

one less ane maore one less ane maore
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Number Track
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“Deca” Hands



First Grade Models for Number and Operations in Base Ten (from ORIGO Stepping Stones)
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Ten Frames Base Ten Blocks and Numeral Expanders Deca Hands Showing Tens and Ones
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Base Ten Blocks and Balance to Compare Hundred Chart Base Ten Blocks and Numeral Expanders
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| does net balance
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Second Grade Models for Number and Operations in Base Ten (from ORIGO Stepping Stones)
. Draw a line t@ join 2ach numeral o 12 position on the number line.
- Then write € or 2 In each drcle @ describe each pair of numerals.
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Transition from the Number Track to the Number Line Compare Quantities “Less distance from to 0” “Greater distance from 0”
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Compare Even and Odd Base Ten Blocks and Numeral Expanders Number line for Relative Position of 3-digit Numbers
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Place Value Table Number line for Relative Position to 1,000



Third Grade Models for Number and Operations in Base Ten (from ORIGO Stepping Stones)

2. For each arow on the number line, wiite the number in the table.
Then write the nearest ten and nearest hundred for each number.

quﬂMMWWM
700 750 800
Arron A B c B E E 2. Lock at the blocks, Write the matching number on the expander.
Murmiber a.
Mearest ten i Ne ' =
hundred e :
Number line for Rounding Base Ten Blocks and Numeral Expander
Write the number that = shown by each arrow.
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Locating Numbers in the Thousands on the Number Line



Fourth Grade Models for Number and Operations in Base Ten -(from ORIGO Stepping Stones)

2. Draw beads or wilte numbers to complete the missing parts,
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Base Ten Blocks and Numeral Expanders

I. Round egch population to the nearest ten.
Use the number line to help vaur thinking.

35,650 35,660 35,670 35,680 35,660

a. Population 35,678 .h. Populaticn 35,683 o Population 35,656

| 35680 | || |

Number line for Rounding

w 0,000 =

w | 000 =

w00 =

2. Look ot the abdcus, Wiite the matching number on the expandear.

. b.
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Abacus and Numeral Expander




Fifth Grade Models for Number and Operations in Base Ten (Including Operations with Decimal Fractions) (from ORIGO Stepping Stones)

. Building a Picture of One Million

Imagline you start ot 1,000 and skip count by 1,000,
‘What number will you say ofter 999,0007

o

Look carefully at the ploce-value chart belew.
‘Whot place nomes belong In the three spaces
below Millionz?

‘Whot abbreviotions would you write?

Millions. Thousands

H T o H T o

Wirite numbers In the chart to show one millian.

How could you represent one millicn using different bose-10 blocks?
How da you know?

Exponential netation is aften used 1o represent very 1
large: numbers. It ivohes repeatedly mutiplying o
base number. The diagram on the gt shows that

H0% I equivatont to 10 = 19 % 10, sq 0° = oo

14900 .. 1,000
3,000 ... $,000..

How many thevsands are
there in ane mifllzn?

Lock at the plcture below.
o *
1 1aa [EHEH
{10 = 10Y (10 = 10 = 1)

Base Ten Blocks, Place Value Table and Exponents

Complete the number nome below to show how you would reosd the number on this exponder.
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Number line for Relative Position
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Number line for Relative Position of Millions Expressed as Fractions



, |s Springwood Falls thon Hord Rock Valley?

Layla |s plonning o hike. How much farther

Q’ﬁ Springwasd Falls 14 mere
than dovple the diztance.
t h o

Domoen drese Jumps on this number line
to figure out the exoct difference. /\\/—F_‘-‘\\

Numeral Expander-Decompose Decimal Fractions Place Value Table to Add/Subtract Decimals Number line model to Add/Subtract Decimal Fractions

This large sguare represents one whole.
What fraction 15 shaded? How di you know?

How would you write the fraction thot s shoded?

Twe=tenths of The whele square
i+ shaded s that's 75 o 0.2.

The shoded part shows one group of 0.2, How could you show b groups of 0,272

Mina used this number line to show the multipllcation another wery.
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Area and Number line Model to Multiply Decimal Fractions

Array Model

Thiz plcture shows the dimenslons of o room.

Howe could you figure out its area? b m

8.3 m
it must be about 31 m*
pecavse & ¥ & = 3L,

Janlce aplit the rectangle Into parts that
are easler to multiphy.

Howe did she split the rectangle?

Hoew wll It help her figure out the areo®
What 1= the totol area? Howr do ywou know?

Array Model to Multiply Decimal Fractions

Imagine you nead to find the arew of a fleor with these dimenslons, ———— 32m———

‘Whot do you knew about the answer?

The length iz a |ittle more
than 3% m and the width ix
a little Jags than 3 m 2o the
aren will be cloge fo §m*

ﬁ The onswer will include hundredths.

Howe could you figure out the exact answer?

James split the rectangle inta parts thot were eosler w multiph:
Howw did he split the rectongle?

Howw dia the ports make it easkar to multiply?

‘Whot partial products does he add

to figure out the area®

$5 |+ | $50 | i

o&m - 0l =~

Open Array Model to Multiply Decimals

3m

0.2m

Break-Apart to Divide Decimals Area Model to Divide



